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* Image Size 450 X 450 pixels
Block Size 50 X 50 pixels
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nst' 3 (new speckle tracking between 1st and
3rd images) = st 2+st23

ost 3 (original speckle tracking between 1st
and 3rd images) = st 3
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(1-3=1-2+2-3)
« Summation of strain with the 1% strain variation between 2 images.
1-3=1-2+2-3 1-4=1-2+2-3+3-4

1-2

1-5=1-2+2-3+3-4+4-5 1-6=1-2+2-3+3-4+4-5+5-6 1-7=1-2+2-3+3-4+
4-5+5-6+6-7

ariation betwdiie
1-7

strain with the
1

ummation of strain with the 3% strain variation between 2 images.
1-7=1-4+4-7

1-4
Summation of strain with the Summation of strain with the
strain variation between 2 images. strain variation between 2 images.

1-7=1-2+2-3+3-4+ _
4-545-6+6-7 1-7=1-3+3-5+5-7

Summation of strain with the of strain with the



(Threshold)

SAD(Sum of Absolute Difference)



